Find Compound
interest:

Capital = $20.
Interest rate = 2%
10 years annual

Find Simple
interest :

Capital = $1000
Interest rate = 10%

8 years

Find Compound
interest :

Capital = $50.
Interest rate = 5%
6 years annual

Find Simple
interest :

Capital = $10.
Interest rate = 20%

3 years

Finish

$67.50

Find Simple
interest .

Capital = $100.
Interest rate = 2%
3 years

Find Simple
interest .

Capital = $200.
Interest rate = 3%
2 years

Find Simple
interest .

Capital = $500.
Interest rate = 4%
S years

Find Compound
interest :

Capital = $100.
Interest rate = 2%
3 years annual

Find Simple

interest :

Capital = $500.
Interest rate = 4.5%

3 years

Start

Find Compound
interest :

Capital = $400.

Interest rate = 3.5%

5 years annual

Find Compound
interest :

Capital = $200.
Interest rate = 3%
3 years annual




